-_l Fiip://Tarbe T iubarlin delT o2 Teo2lOn .6t 1 ps onlly vector graphic VG: Start output -_l
see separate images of this pagm://farbe.li.Iu-berlin.de/feozlfeoz.htm

(Colourimetric scaling of achromatic colours between peak white and blacl Colourimetric scaling of achromatic colours between peak white and black.
@ % |Relations between tristimulus valueY, luminanceL, and lightnessL* of ISO-standards Relations between tristimulus valueY, luminanceL, and lightnessL* of ISO-standards| o, =
S @ [Colour (ight [tristimu- [IECSRGByy [relative CIELAB\y |TUBLOG Colour (light ~[tristimu-~ [HDR display [relative CIELAB [TUBLOGy S5
S.».  |or paper) lus values] Iightness luminance lightness i or paper) lus valt inance  [luminance |lightness i =
83 [Contrastw:N |V Ciecsrogy [Lu L [Fcieasy  [Crusiocy Contrast W:N [Y L Lu |Lw |FoEasy  |C tuslocy o8
=5 [(25:1=100:4) |(505=2,24|=s Low > |SLILy|=L/Lw [=owlaw!-1§=ty 100(Lp0)#50 (25:1=100:4) |(5°5=2,24|[cd/m?] UL | =0 Lo 16| =y log(L ) +50 ow
= White P2 450 195=! 50+l45 25  |2,24 |182=50+132 [150=50+102 White P2 450 1000 25 2,24 |182=50+132 [150=50+102 S g
o= [dighy =18*25 |=s(5,00124 =c(5,001/%-16=t log(25,00)+5¢ (light) -18*25 |=40%25 =c(25,00§3- 15+t log(25,00)+5 & =
30 White P1 224 139=50+89 [11,2 [1,00 [135=50+85 |125=50+77 White P1 224 448 11,2 (1,00 [135=50+85 |125=50+77 :D g
29 |righy =18+11,2 |=5(2,24)/24 2,243-16l=t log(11,20)+5 (light) =18+11,2 | =40*11,2 =c(11.20}% 16t log(11,20)+5¢ < 7
g S [White W (fluu-BO 100=50+50 |5 0,45 [100=50+50 |100=50+52 \White W (fluu-BO 200 5 0,45 [100=50+50 |100=50+52 g—) o
S @ |recentpaper) |=18*5  |=s(1,00§24 =c(1,00}3-16=t log(5,00)+50 recent paper) |=18*5 =40*5 =c(5,00}3-16=t log(5,00)+50 S E
S £ |GreyU 18 1 020 50=50+2 Grey U 18 40 T [020 50=50+2 39
=3 |(papen =18*1 16=t log(1,00)+50 (paper) =181 4071 16=tlog(1,00+50| 3N
L@ Black N 3,6 0,20 0,09 0=50-48 Black N 3,6 8 0,20 |0,09 0=50-48 % I
g %3 (paper) =18/5 =t log(0,20)+50 (paper) =18/5 40/5 =t log(0,20)+50 ag
:Q Black p1 2,5 0,14 0,04 —-14=50-62 Black p1 2,5 57 0,14 0,04 —-14=50-62 3 ’9)
= § (glossy paper)|=18/7 =t log(0,13)+50 (glossy paper)|=18/7 4017 =t log(0,13)+50 g =
&2 [Blackp2 18 0,10 [0,022 |14 —24=50-72 Black p2 18 ) 0,10 [0,022 [14=50-35 |-24=50-72 a3
@ = |(glossy paper)|=18/10 l0g(0,09)+50 (glossy paper)|=18/10 | 40/10 =c(0,08§-16=t log(0,09)+50| S N
52 |itis valid: CIELABy: o= T16, IECSRGR, Sy=5=100, TUBLOG, t==50/100(5)=72 tis valid: CIELABy: d,=0=66, TUBLOG,: [,==50/10g(5)=72 ‘3" S
o Te020-3n Teo21-3n o
e 2%
o = X
A Colourimetric scaling of achromatic colours between peak white and black. Colourimetric scaling of achromatic colours between peak white and black. o~
gg Relations between tristimulus valueY, luminance L, and lightnessL* of ISO-standards Relations between tristimulus valueY, luminance L, and lightnessL* of ISO-standards Q_g
?\5. = Colour (light [tristimu- |HDR display |relative CIELAB\y [TUBLOGy Colour (light [tristimu- |HDR display |relative IECSRGByy [TUBLOG y 7
o2 or paper) lus valueglluminance [luminance |lightness or paper) lus values| ance  |luminance  [lightness E’—,
9% Contrast W:N [Y L Lu  |Ltw | CIELAB Y L* tuBLoG y Contrast W:N [Y L Ly  |Lw L“\ECsRGBg‘/ L* rusLocy <
S = |(25:1=100:4) |(505=2,24][cd/im? =U/Ly[=L/L w [Fowl aw -1 =ty log(L i) +50 (25:1=100:4) |(505=2,24|[cd/m?] =ULy|=ULw [=swLaw'# |=tylog(La+50| @
:g White P2 450 1000 25 12,24 |182=50+132 [150=50+102 White P2 450 1000 25 12,24 |195=50+145 [150=50+102 -
5 |tighy =18*25 |=40%25 =c(5,00§3-16=t log(25,00)+5 (light) =18*25 |=40%25 =s(5,000%4_|=tlog(25,00)+5¢ =
U§ \White P1 224 448 11,2 [1,00 |[135=50+85 |125=50+77 \White P1 224 448 125=50+77 ing
2 (light) =18*11,2 | =40*11,2 =c(2,24}3-16=t log(11,20)+5 (light) =18*11,2 | =40*11,2 =tlog(11,20+5 2 E'
=] \White W (f|u0-|§0 200 5 0,45 [100=50+50 |100=50+52 \White W (f|u0-|§0 200 100=50+52 S W
% recent paper) |=18*5 =40*5 1,00$3-16=t log(5,00)+50 recent paper) |=18*5 =40*5 l0g(5,00)+50 =4 3
Grey U 18 40 1 0,20 [51=50+1 50=50+2 Grey U 18 40 1 0,20 5 50+1 50=50+2 D
(paper) =18*1 40*1 =c(0,20}3-16=t log(1,00)+50 (paper) =18*1 40*1 =t log(1,00)+50 @
Black N 3,6 8 0,20 10,09 0=50-48 Black N 3,6 8 0,20 10,09 0=50-48 g
(paper) =18/5 40/5 =t log(0,20)+50 (paper) =18/5 40/5 0g(0,20)+50 =
Black p1 2,5 57 0,14 10,04 —-14=50-62 Black p1 2,5 57 0,14 10,04 —-14=50-62 8
(glossy paper)|=18/7 40/7 0g(0,13)+50 (glossy paper)|=18/7 40/7 0g(0,13)+50 Q
Black p2 1.8 4 0,10 [0,022 |14=50-35 -24=50-72 Black p2 1.8 4 0,10 [0,022 |18=50-31 -24=50-72 r|D|
(glossy paper)|=18/10 40/10 =c(0,0¥§-16=t log(0,09)+50 (glossy paper)|=18/10 40/10 =s(0,09%4 09(0,09)+50 =
Itis valid: CIELAByy: y=c=116, TUBLOGy: ty=t=50/log(5)=72 It is valid: IECSRGRy: s,=s=100, TUBLOG;: ty=t=50/log(5)=72
Te020-7n Teoz1-7n

TUB-test chart feo2; Colourlmemc scaling of achromatic colours between white and black.
= Contrast W: P2 p2=1000:4 W|th YnW, Ynu. See 1SO 22028-5, ISO/CIE 11664-4, Cl
E




